/) TCTHEATFT—2KEELE T AT XA (FFE—) A — 2% 2008
[/ R 5 B (p.214) HAEER 7T 7 OFTRERIRIC L 5B
/) GETHR

#include <stdio.h>
#define N 4
#define NON-1

#define ROOT 999
#define M 100
#define OVERFLOW -1
#define UNDERFLOW -2

int graph[N] [NJ={{0, 1,1, 1}, {1,0,0, 1}, {1,0,0, 1}, {1,1, 1,0} };
int t[N];
int qM], f, r; /*FEBATEI*/

int enqueue (v)

{ if (f-r ==1 || f-r+M == 1) return OVERFLOW;
qlr] = v;
if (¢4 =M r = 0;

return 0;

int dequeue ()

{ int v;
if (f == r) return UNDERFLOW;
v = qlf++];
if (=M f=0;
return v,

void breadth_first()
{ int v,w;
v = dequeue () ;
if (v 1=-2)
{ printf(” %d =7, v);
for (w=0; w < N; wtt) {
if (graphlv][w] == 1 & t[w] == NON)

{t[w]=v; enqueue (w) ;}



breadth first();

main ()
{ int i,v=0;
for (i=0; i<N; i++) tl[i] = NON;
f=1r=0;
enqueue (v) ;
t[v] = ROOT;
breadth_first();
printf(” end¥n¥n”);

// for (i=0; i<N; i++) printf ("t[%d]=%d, 7, i,t[il);
// printf(“end¥n¥n”) ;



